Matlab 7 *%ﬁnﬂm‘l— v \“I/*E/L,\I%HB

[EIRERR F8752

= QEEEMRFNES BESES

A

3.1 BAHS Matlab FTERAEIERIAIE

I SUKFES TR -

@
(b)

(©)

Ans:

(@

(b)

7£ Matlab 1852 N\ a =192 » FHREIEE o WEER(HEE?

SIS o QIBLREE NS single TUREGVEEY - WASHERIZTEACEIEN b o BN b 15
3 2@ bytes ?
SIS b QOTLRESBONA int8 BUREAVELEY » T IHERLEMRE B c - B c 1655
S8 bytes ? SRS  VEAHEERBR 1927
>> a=192
a =
192
>> whos a
Name Size Bytes Class Attributes
a 1x1 8 double
>> b=single (a)
b =
192
>> whos b
Name Size Bytes Class Attributes
b 1x1 4 single
>> c=int8 (b)
c =
127
>> whos c
Name Size Bytes Class Attributes
c 1x1 1 int8
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int8 IR AER 127 » 192 E#8i@ int8 BERTIRAEE » WIt c THRLEER
B 127

2. DL intmax E2 intmin $§< &5 int32 82 uint32 SEMERLREHVRKEANER/VE °

Ans:

(a) >> intmax('int32')
ans =
2147483647
>> intmin('int32')
ans =
-2147483648

(b) >> intmax('int64')
ans =
9223372036854775807
>> intmin('int64')
ans =
-9223372036854775808

3. BU5TE sqrt(2)tsingle(s) - WiERBAPTISHEROVELRER 7 5 class() ESFREMEVHER
EBEEH -

Ans:

>> sqrt(2)+single (5)
ans =
6.4142
>> class (sqrt(2)+single(5))
ans =
single

4. NREXFE a~z ) ASCILEFZENE 97~122 » F{L char #5SFIM ASCI DIENH/NRESL

Fhazo
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>> char(97:122)
ans =
abcdefghijklmnopgrstuvwxyz

5. &% data=[1,0,1,1,0,1,1,0] > 7£1it data RBEIS 0 £2 1 PTHERNGY—HERED] o 5T data B5IR
AREBSoT 0" B2 1 ATHERREYS Tk (BIZER) o

Ans:
>> data=[1,0,1,1,0,1,1,0]
data =
1 0 1 1 0 1 1 0
>> mydata=data+48
mydata =

49 48 49 49 48 49 49 48
>> str=char (mydata)

str =

10110110

>> whos str
Name Size Bytes Class Attributes
str 1x8 16 char

6. 5% str="10110110"» ¥ str SHRAMNBR 0 2 1 ATHEMBI—HEREDY

Ans:

>> str='10110110"
str =
10110110
>> mydata=char (double (str))
mydata =
10110110
>> whos mydata
Name Size Bytes Class Attributes

mydata 1x8 16 char
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7. 5%5q=2.71828 » FHIUHE 5 BHFVEHETRER TS sq HYE ©
Ans:

>> format short g
>> sq=2.71828

sq =
2.7183

8. FKFRIEETHIREE !
(a) ETE exp(5) » MHCHER ST REIE num o
() FHLUHE 5 EHFHEFERNRERRE -

Ans:

(a) >> num=exp (5)
num =
148.4132

(b) >> format short e
>> num=exp (5)
num =
1.4841e+02

3.3 (68 fprintfOI5SIEITIRIV b EL

9. FAMA fprintf) BLENLTIIFER :

(a) Today is a sunny day.
(b) It's mine.

(c) 35% students are failed.
(d) This is a back slash \.
(e) 'I'love Matlab'

Ans:
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>> fprintf('Today is a sunny day.\n')
Today is a sunny day.

>> fprintf('It''s mine.\n')
It's mine.

>> fprintf ('35%% students are failed.\n')
35% students are failed.

>> fprintf('This is a back slash \\.\n')
This is a back slash \.

>> fprintf('''I love Matlab''\n')
'I love Matlab'

SALURLL 6 B » )\ BREA T RIEVSTUARDUENEIS 3.1416 o

>> fprintf('%6.2f\n',3.1416)

3.14

DL display() I8SENE TBHZEE :

(@
(b)

Ans:
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3/4=75%

'What a sunny day'

>> disp('3/4=75%"')
3/4=75%

>> disp('''What a sunny day''')
'What a sunny day'

&% a=35,b=12 * KA fprintf) IBSEDETEOIRTI

(a) a=35.0, b=12.00, a+b=47.00

(b)a=35, b=12, a*b=420

(c) a=35, b=12, a/b=2.917

3-5



f Xa! i -
—— o
3-6 Matlab 23851 =N -y
T
Ans:
>> a=35
a =
35
>> b=12
b:
12

(a) >> fprintf('a=%4.1f, b=%6.2f, a+b=%6.2f\n', a,b, (a+b))
a=35.0, b= 12.00, atb= 47.00

(b) >> fprintf('a=%d, b=%d, a*b=%d\n', a,b, (a*b))
a=35, b=12, a*b=420

(c) >> fprintf('a=%d, b=%d, a/b=%6.3f\n', a,b, (a/b))
a=35, b=12, a/b= 2.917



